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CE&-aIgEq &9 Q%M gga ARG IS |
Answer all the bit questions of a particular question
serially at one place to ensure effective valuation.
021l et RIS QRUINIE 60 6R168 U8 9aa AREQ
CAg GG d91eMa QAQ [AIRLEER G Y@ KIR60 emG6! |

Use of calculator is prohibited.
CER 0QQ MQLQIQ FES |

Answer from all the groups as directed.

F6UaIRAIL J601R QIR Qaa Ga |
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Group - A
Q-QQle
All questions are compulsory.
ANl de QRNIFIRE AT |

Choose and write the correct answer of the
following : 1 x7=7
PNAGEERQ A0R QAR QIR ¢R
a) Natural rubber is the polymer of

gIR0@ QQQ QIQIQ 9RS (AR, QIQl

1}  Acrylonitrile 1) Isoprene

i)  Vinyl chloride iv) Chloroprene

b) C,HsBr + C,H;ONa —» C,HsOC,H; + NaBr
The name of the above reaction is
Qe QGQQIG‘Q Qiel A6
1) Riemer-Tiemann reaction
1ii)  Aldol condensation
1) Williamson synthesis
1iv) Kolbe's reaction

¢) Aluminium is extracted from alumina by
electrolysis of a molten mixture of

0d oar fgea ¢30ide dcase Q@
AQARIQ 2RFRGN Had QAN GIQl 266

1) Al O, + KF + NaALF,

11) AL, O, + NaaAlFﬁ + CaF,
111) AL,O, + HF + Na,AlF
1v) Al, O, + NaF + CaF,



fu

)

)

g)
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Wineh class ol chenneal compounds s
used to rehieve poan !

VDA I G LN il
WA AW WY Y

1) Annlpesice ) Antipyretc

m) Antiseptic wv)  Tranquilizer
The tormula of sulphur molecule 18

W 610 L TG

) S, i) S,

7

i) Sy wv) S,

The dispersed phase and  dispersion
medium in smoke are respectively

NAEQ YOI QRS QIR B QRAE AINA
QIREH A6

i)  Gas and liquid ii) Liquid and gas
i) Solid and gas iv) Solid and hiquid

Which of the following 01 M aqucous
solutions is likely to have the highest
depression in freezing point ?

AARYIG 01 M QRIG QQSAIRE  ARNQ
£RAGQ QAIE AQRNRQ AR 2 ?

1) Na,504 1) NaCl

i)  Glucose wv) Na,PO,

Answer the following questions : 1 x7=7
PAMGIO Jaouea @t @d .

a)

Write the names of the vitamins, the
deficiency of which (i) causes anaemia and
(ii) damages the reproductive system both
in men and women.
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Ge (@ (1) QEth JO8 G QIEAINE (EO6H
(RRR 08 A& QLR CAAIRER AIA 66!

b) Which noble gas mixed with oxygen is
used by sca-divers for their respiration
under water ?

Q8 0GR Q90 QIR QIR §Ia
gacad 2eder 4R @A A8 6Mg
QA @A 7 ‘
¢) Which disaccharide on hydrolysis in
presence of the catalyst invertase produces

glucose and fructose ?

Qraesee  Qae  @adbea  ea
QIRAIRIARLA R AUUCR QYR CeRIw @3
FPRCIR R ?

d) The IPUAC name of complex
Na,|Fe(CN);NO] is
Na,|Fe(CN);NO] €°Qnel [PUAC  @if]

6o |

e] The smallest repeating unit in crystal

lattice which when repeated over and

over again produces the complete crystal

1S

300 PlRAGQ s 2% acaq. Qigia 9at
g8 JAQIQE PR and @6e Ace 0IQ!
AT |
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f) What i1s the relation between standard
Gibbs free energy and standard em/f of the
cell ?

Clpe Hea AR QG B QA FIRE G946
R@ @@ AU1ER A0 @6 7

g)  Write the name of the reagent that reacts
with formaldehyde to give sodium formate

and methyl alcohol.
(0Q 2Qede ARG ac, 4 gocal @Q

cAIfan e 6 fuIRR AINCRLR QY.
QIRIQ QI EAG !

Group - B

¢ - eQIQ

3. Answer any seven questions of the following :
2x7=14
ANRGe ALHQ 60 6dlad QI6EIF 99Q QaQ Qa !
a) Match the compounds in Column 1 with
their functions in Column II correctly :
g¢ 1Q 6TGRAINE 97 TEQ YOI 6aF1REA
qidflenaQ a0Q QIeER €AR @Q .

Column I Column II
a) 1% solution i) Preservative
of phenol
b) Sodium hydrogen i) Artificial
carbonate sweetener
¢) Aspartame i) Antacid
d) Sodium iv) Disinfectant

metabisulphite
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b)

d)

€)

g

What happens when a mixture of calcium
formate and calcium acetate s
distilled ?

dry

Q“IG}EQQ Pere G G{"HQQQQ ‘OQG@G‘G} e
QG’QQ J& iR QR Q'8 Q6o 7

What is the role of limestone in the
extraction of iron ?

6lQ ASE6Q QRN QeI '@ 2

2:75 g of Na,CO, is present in 200 ml of
Na,CO, solution. Calculate the molarity of
the solution.

200 AR Na,CO, QQ86Q 2.75 g
Na,CO, 28 | Q981 ¢AINIRG 249 q |

What is Rosenmund's reduction ? Give
equation.

CAUCRRILE TRIQE @'Q ? Aead G |

Why is electron affinity of chlorine greater
than that of ﬂuorine ?

RI0RQ REAGR A} CPIRR0IQ AR
@Q@ ?

Explain Tyndall effect.
CSIR gaIe QeI |
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W What happens when ethyl alcobal

] v e |
heated with excess cone PSSO at 1007 5

LA ]‘.\1\“'“"* Il‘“\ i..}lv“[.q‘“] :.”“ﬂﬂ}.'l |'5l""‘|1" h!]‘ l { “ l' ( ) (I£|}
;“J'\*wt\l'ln" \\‘l'\ul 1 .:"‘l( ) i \ ]'H‘ THIL :c AT ) :HJ' ‘"llf'l
e ¢

1) What happens when sulphur dioxide gy is
passed through lime water first slowly and
then i excess ?

CUERERER MG QIRTYQY IR QRUIE
PIEHERL Q86N 6Q 8 U6 AW SULICW (J6Rel
QAN Q'Q e ?

) I ar 25°C, the standard emf of the cell
|:cn(snzn'-**nM1||(:u'-’-*'(0-|M)|Cu(,~.-) is
1-3 volt, calculate the emf of the cell.

ad 25°C QIaAIRIER
|?n(~»)|2113+(1M)n(,u2+(0 IM)| Cu(s) 6ORQ

IR QQIG QIPE AR 1:3 V QY. €960 AQA
QIO PR R CREO TR QAL |

4.  Answer any scven questions of the following :
Ix7=21

AARYS MNQ 60 ¢TOA Q6EIE gaa ean QF :

a)  What  are ionization and  linkage
iIsomerism ? Give one example of each.
didMQQE G Q6aIq GRIQLe Q'@ 7 e @Q
6OIGY QAL QA |

605 R/E/Set B | 7 ]

P.T.O.



6016-B

D)

d)

Benzoic acid on treatment with Br, and
FeBr, gives the compound ( A ), which on
treatment with NH, gives the compound
( B}. The compound ( B) on heating gives
the compound ( C). Write the structures of
compounds ( A ), ( B) and ( C) in the
above sequence of reactions.

cOALAIAR ¥AQ A9 Br, G FeBR, 9664
Q6R 6dlIde (A) feR. QIQl ag NH, 96Qgy
@6 €Al9e ( B) fsn 1 ¢Tido (B)R 9Qn
QeR ale (C) fee | eacaig doQa 9neq
6AIGR (A), (B)G (C)a aoQl Qs |
The boiling point of benzene is 3532 K.
When 1:8 g of a non-volatile solute was
dissolved in 90 g benzene the boiling point

was raised to 3541 K. Calculate the
molecular mass of the solute.

( K, of benzene = 2:53 K kg mol-!)

€BRQ GORIS® 3532 K 266 | €aEOCREe
189l AQRAG1 Q19 90 gl (RRBREA QeIQR
CRAl. CRALAQ GEAIF 3541 K @ Q8
digRl | Qleq 6@ ege Qae o |
( 69R9QQ K, = 2:53 K kg mol-!)

Discuss the mechanism of Sy2 reaction.
5:2 9030IQ RAITY 2RI 9Q |

What are addition and condensation
polymers ? Give one example of each.
eGP B C°ARR AQRRYLR Q'€ 7 ACHeQ
CRIEY €RE!IT QQIQQE G2 |
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fi ~ Write three differences between physical
and chemical adsorption.

ACE G QAGAE 2YCHIBE AXER FCRIE
Qigley ¢Re |

g What is lanthanoid contraction ? Write two
of its consequences.

AIRLINYE PERION Q'4 7 ¥IQ QaE OQeIN
Qe |
h) Write a note on denaturation of protein.

QITRA 996Ra8 QIR SR8 6R |

i)  Write three differences between crystalline
and amorphous solids.

QTRRQ B ALEANIQ Q0Q AR 360IT
aleley east | '

j)  What are interhalogen compounds ?
Explain with example.

ARLQIEAICER TTGIER @8 7 AQIRAAQ

QQld |
Group - C
e - <ae
Answer any three questions. 7x3=21

cq ¢Ted 6RI6 992 QaQ 0 |

5. a) How can you prepare methyl amine by
Hofmann bromamide reaction ? Write the
action of methyl amine with (i) CHCl, and
alcoholic KOH solution and (ijj methyl
iodide ? 2+2+2

605 R/E/Set B | 9 ] P.T.O.
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CIPOR 6QIINIRG LOGLIGILI Q60 Q0
SR A8 Jge @qoiqe 7 (i)r(‘:H'::l3 3
ReRIQR KOH 99 908 6 (i) AalaR
TRGEIAe 48 AR aINeQ GERG Rt |
b) Arrange the following amines in the

increasing order of their basicity : 1
F608 AFNQEeR SIRIGE! AIRQ @9 QAR
QRIR EMG! :

C,Hg — NH,, CH3 —NH,, C;Hg — NH,,.

6. a) Define molecularity and order of reaction.
Derive an expression for the rate constant
of a zero-order reaction. 13+ 13 + 2
0eRaIa 2GSl 6 goeala ena Ol
GG | Ye 4R gokaia Qe gae ae
e Qe @Q |

b) The half-life period of a first order reaction

is 30 minutes. How much time is required
for 75% completion of the reaction ?
(log 2 = 0:301) ' 2
90 goan @f geeaiQ asagee 30 ARG
768 | 98 gORQIQ 75% ANIGaIR 6e60 A4
2944@ ? (log2 = 0-301)

7. a) Define specific conductivity and molar
conductivity. What is the effect of dilution

on them ? 13+ 13+ 1

Qa8 aQQIg0l G AR gaeigeia sl
CAGl | €ARINE QA AYRQEA GRS @ € ?

Contd.
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At 25°C, the molar conductivities at
infinite dilution of NH,Cl, NaOH and NaCl
are 149-7, 2481 and 1265 ohm! cm?
mol-! respectively. Calculate the molar
conductivity at infinite dilution of NH,OH.

3
25°C G 23S AYRAEEQ NH4CL, NaOH G
NaCl @ 6AlRIQ ¢Racl Jdieerl 149-7,
2481 B 1265 ohm'! cm? mol-! JéEC |
Q9 AYRAEEQ NH,O0HQ AIRAIQ GRWIG!
QAIQ @ |

Discuss the principles involved in the
preparation of ammonia by Haber's process.
What happens when (i) ammonia i1s heated with
oxygen in presence of platinum gauge at 500°C
and (ii) ammonia 1s passed through copper
sulphate solution ? 3+2+2
QeQe  aebca  aenIal  9ge 2348
0AAIeMEEe 6ael ] Q8 Q6C  CUERERER
() EARAQ ARIS 4R QTR e QAT
500°C 048 SR QAUAIY G (i) ACAIFAR LA
AMEPE QR4 ANiER H6@d QUL ?

a) Write the method of preparation of phenol
from chlorobenzene by Dow's process.
What happens when phenol reacts with
(i) conc. H,SO, and (ii) acetyl chloride in
presence of aqueous NaOH solution ?
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b)

QIGE" QG QIO ug-it,t:11{,9.'-9#;;'9[{;; f‘j‘-g:g)‘ Qg9
QI G @6 U6 CUERERER (R
(1) V1 H,50, G (1) %4, NaOH Q@G‘
QULO6A YU6R 6R1QIRC 6@ 96R a6q 7

Arrange the following compounds in the
order of their increasing acid strength : 1
AIAYe cAINRAINGQ SRR ama gede
ARQ 96 AR GrIR CAE : o

O,

N
1020, (D)o, (5 on




